Electron Configuration Worksheet

1. A neutral atom of argon contains (how many?) _________ electrons.

2. When all of the electrons in an atom are in the lowest available energy levels, the atom is in the __________________________.

3. A neutral atom containing ten negative charges is the element _________________________.

4. As an electron’s distance from the nucleus increases, its energy content ________________________.

5. The position of an atom in the periodic table and the number of its electrons are both given by its ____________________________.

6. The maximum number of valence electrons possible in any outermost shell is ______________________.

7. The number of valence electrons increases with increase in ______ from the beginning to the end of period 2. 

8. The number of valence electrons in Helium is _____, but the number of valence electrons in all other inert gases is _______.

9. If an electron has absorbed energy and has shifted to a higher energy level, the electron is said to be ____________________.

10. The average region through which an electron moves is an _______________________.

11. In any p sublevel, there are how many p orbitals _______________.

12. The maximum number of electrons possible in any p sublevel is _______________________.

13. The number of orbitals in the outermost shell of neon is ________________________.

14. A sublevel designated 4p means a p sublevel in the __________ principal energy level.

15. A 3d orbital has (more, less) ___________ energy than a 3p orbital.

16. The only two kinds of orbitals which may occur in the outermost shell are the ___________________ &  ____________________.

17. In lithium, the orbital of highest relative energy is the ____________.

18. The element having atomic number 36 is _____________________.  The number of electrons in its 3d sublevel is __________________.

19. No more than _____________ electrons can be accommodated in an orbital.

20. The electron configuration 1s22s22p63s23p64s1 is that of element ________________________.

21. The electron configuration 1s22s22p63s23p63d10  4s2  4p1  is that of the element ___________________________, which contains (how many?)  ________________ electrons in its outermost shell?

22. An atom is chemically ______________________________ when all of the orbitals in the outermost shell are completely filled.

23. Elements may react to form ions developing electron configurations like those of the _______________________________.

24. An excited electron of hydrogen emits the least energy when it drops from quantum levels   a) 4 to 2    b) 5 to 1    c) 2 to 1   d) 5 to 2

25. Bohr postulated that electrons could only exist in certain paths around the nucleus when he termed   a)orbits    b) quanta   c)orbitals   d) spectral lines

26. According to Bohr, the more energy the electron possesses,

a. the more stable it is

b) the smaller the size of the quantum emitted


c)   the farther it is from the nucleus     
d) the closer it is to the nucleus

27. Spectral lines of the elements are caused by   a) electrons falling to lower energy levels    b)  electrons jumping to higher energy levels   c)  electrons turning in their orbital paths   d) the sympathetic vibration of the nucleus

28. The outermost shell of any atom can hold a maximum of

a)  8 electrons
   b) 2 electrons
c) 18 electrons
d) 32 electrons

29. The number of sublevels in the fifth principal energy level is 

a)  7
b)  3
    c)  5
d) 4

30. The 4f sublevel is filled next after  a) the 6s sublevel  b) the 5p sublevel   c) the 5s level   d) the 4d sublevel

31. The maximum number of electrons in the fourth principal energy level is a) 8   b) 16   c) 32   d) 64

32. A p orbital is     a) best described as a cube    b) sphere shaped         c) too complicated to describe   d) dumbbell shaped

33. The sublevel of lowest energy is   a) 3d   b) 3p   c) 2s   d) 2p

34. 1s2 is the representation of  a) H   b) HF   c) Hg   d) He

35. The number of orbitals in the fluorine atom is  a) 1   b) 2  c) 5  d) 4

36. The particles that are most intimately involved in chemical reactions are   



a) protons   b) neutrinos   c) neutrons    d) electrons

Base your answers to questions 37-42 on the following electron configuration of a neutral atom:








1s22s22p63s23p4

37. What is the total number of s electrons in this atom?

38. The total number of electrons in the second principal energy level of this atom is ______________________.

39. How many orbitals are half filled in an atom of this element in the ground state?

40. What is the total number of electron energy levels in this atom?

41. How many orbitals in this atom contain at least one electron?

42. What element is this atom?

